Denksport Lukas Holz 26.11.2021
Synthesis of Nesteretal A

1) LAH, 5) IBX,
Et,0,0°Ctor.t. . CH4CN, 80°C
2) PBry, = 4) AD-mix- 6) MOMCI, DIPEA
Et,0, 0°C to r.t. 3) plausible conditions? BuOH/H,0 1,2-C,H,Cly, 60°C
Starting Material? ————3 _ Br . —_— C —_— D
69% 82% | | 88%, 97% e.c. 95% 02s
A
B
Li
7) Coy(CO)g 8) LaCl3*2 LiCl /\/ 9) CAN,
CH,Cl,, CH,Cl,, -78°C Acetone, -78°C
— —_— —_— —_—
D 98% E F 56% d.r. = 4:1 G 88% H
13) 1 M HyS044q).
10) cat. Pd(OAc), 12) cat. Mo(CO)g THF
PPh;, AcOH 11) cat. CBry TBHP 14) IBX,
Toluene, 60°C 'ProH, 80°C Toluene, 80°C CH3CN/DMSO, 50°C
H 0 3 I > J 0 > K > L
53% 91% 70% d.r. >19:1 69% 02s
15) cat. PPTS
CH(OMe); 16) cat. 0sO,, NMO, 18) 1 M HyS0yaq)
MeOH THF/H,0 THF
L o M » N —_—> 0 —_—
59% 23;2,) Bo)é'spy' DMSO hint: O contains 3 2%
° alcohol and ketone
moeties, each L _
Nesteretal A
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Please provide mechanisms for the following transformations.

Hint: The bicyco[1.1.1] moiety is formed in step 20).

19) 1 eq. MesSO,NHNH,
PhCl, r.t., 1h

then

2 eq. YPrB(OH),

3 eq. Cs,CO;5

100°C, 3 h Q
—_—

then

5 eq. pinacol

100°C, 0.5h

then

2.0 M H,SO,4 quench
PhCI/MeCN, r.t. 3 h
66%

Bicycloalkyl boronates

20) 1.2 eq. MesSO,NHNH,
Dioxane, r.t., 3 h

then

3 eq. Cs,CO;,

100°C, 3 h

66%
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